PMC PRACTICE TEST 09

CHEMISTRY
Q.1 SNareactionsare 7
A. Nucleophilic unimolecular addilion reactions
B. Nucleophilic bimolecular substilution reaclions
C. Nucleophilic bimolecular addition reactions
D. Nucleophilic unimolecular substitution reaclions

Q.2 Thesequence of amino aclds comblned In a peptide chaln Is called .
A. Primary structure C. Tertiary structure
B. Secondary structure D. Quaternary structure
Q.3  Which of the following shows Planck's quantum theory
A. E=hev C.E=cv
B. E=c/v D. None of these
Q.4 Any thing under study durlng a chemlcal [ on In thermodynamlcs Is
called as ? <
A. Analyte :
B. System
Q.5 From which of the l[ollowing sources
AL Butler %
B. Milk _ N\ D
Q.6 The smallest part of eryStal 1ittice showing il Mt vstal Is
called as_____ 7 ®
A. Crystallite

B. Unitcell
Q.7 Nyholm & Gflles

A. Transitjop eleme Alkali metals
s \ ot aline earth metals
Q8 ' ssds [0 terms of paryfil pressure In denoted by
.Kp
D. None of these
Q9

h C. Zinc Chloride
B. ' D. Zinc Sulphate
Q.10 InIUPA ming alcohol§ #rp named as ?

A. Alkanal : C. Alkanol
B. Alkyl alcohdls, ——¢ D. Alkenol
Q.11 Which one Is natrop?
A. Na:CO, C. Na:CO;H20
B. Na:C0,.1 H:O D. NaHCO
Q.12 Compounds attracted by applied strong magnetic field are called
A. Diamagnelic C. Good conductor
B. Paramagnetic D. Ferromagnetic
Q.13 The turhid liquid were also called liquid crystals due to presence of some
flegree of
A. Heat C. Hotness
B. Order D. Coldness
Q.14 The reactant which consumes completely in a reactlon is known as
___reaclant
A. fractional C. limiting
B. initial D. minor
Q.15 Work done on the system Is
A. Negative B. depends upon Boundary Conditions
C. Positive D. Zero
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Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q22

Q23

Q.24

Q.25

Q.26

Q27

Q.28

Q.29

Q.30

Q31

Q32

Q33

Q34

ITow many d-block clements are present In the perfodic table?

A 40D c.37

B.23 D. 30

Aldole conslst of which functional group?

A. Aldehyde C.Bothaand b
B. Alcohol D. Kelone

The tendency ol of an atom to attract a shared electron pair towards lisell is
called

A. Electron aflinity C. Electronegativity
B. Ionization energy D. Polarity

Rayon Is ?

A. Acetyl chloride C. Alkyne

B. Alkene D. Acetic acid

Protein part attached with non-protein part in enzymes belongs to which
class of protelns?

A. Simple C. Derived
B. Conjugated/compound D. All of these
Formation of plcric acld by phenols s called ¢

A. Decomposition € \Sulphonation
B. Halogenation ‘DN

Which one of the Tallowing Is not an g
A. Palmitic acid
B. Stearic acid T
A substance formed by reductlon of '-"’,_'f-"-"
A. Picric acid

B. Benzepe

Glass Is an example o

A. lonic solid ) “Bstudo solid
B. Covalent solid® . Senhsoli

Which catalyst'are usced in catalyil acking?
A. Silica, Ui " N : fl SilitaBoda ash
_Silies 1 N ~— . DEATumina, Pt

7, exothermic
use cooling -_ D. continuous
was obtained fron — o fJirst time?

C. Aromatic compounds
B. > h D. Coal tar
The sum of onle and a _ ilc radlus In a crystal Lattice Is equal to
A, inter-tilian distance R j B. inter ionic distance R
C. inter- catiothe MistanceR D. inter-anionic distance R-
The rate of SNz reactionbecome doubled IT ?

A. Concemiration'gl Ndcleophile doubled
B. Concentration of'Substrate doubled

C. Conceniralion of Substrate Trpled

D. Concentration of subsirale remain same
Which one of the followlng Is most reactive?

A. Benzene C. Ethene

B. Ethane D. Ethyne

The decrease In atomic radil is very prominent in

A, Second group C. Higher groups
B. Second period D. Higher periods
The hydrogen gas bubbling Into one molar solutlon of TICI has a pressure of
A Zaim C. 19 Psi

B. 780 mmHg D. 1 atm

The atomlc ratlo of Isomorphs of ZnSO4, and NiSO4 s

A2 C. 1:01:04

B. 2:01:04 D. 1:1

A full stop may have atoms present In It

A. one million B. two millions
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C. one billion D. two billions

Q.35 Which of the followlng Is protein digesting enzyme?

A. Trypsin C. Prolease

B. Pepsin D. All of these
Q36 The deliquescence Is a property in which a solid

A. Absorbs moisture and remains solid

B. Absorbs moisture and tums 1o liquid form

C. Loses water of crystallization

D. Increases the number of water of crystallization
Q.37 What is the octane number of Iso-octane?

A.40 C.0
B. 100 D.2
Q38 Space among the lquoids is ?
A. Lower than gases C. Lower than solids
B. Higher than solids D. Both A and B
Q39 In the rate equation R=k[A]a [B]b, order of reaction is
A.axb C. b-a
B. a-b Dfa+b
Q40 More energy to remove an electron from_& \ \?
A. Half filled subshell <

B. Completely Filled Subshell
C. Partially filled subshell
D.Bothaand b | :
Q.41 The shapes of subshells is _If value o "?j‘r;-.r.-"i pumber ‘1" Is 2
A. Spherical ]
B. Dumbbell
Q.42 A crystal Is made up of
AL Aloms ;
B. Ions i f
Q.43 An is the difTer "_~'; f.inbles of reactants amilproducts In a
reaction

sCipgeous Phase
u lasma Phase

Q4
C. CHCl,

D. CH,CI
Q.45
C. Iron
I D. Silver
QA6  2-hydroxy propanoic aci L Is also called as )
A Stearic acid o C. Maleie acid
B. Butyric acid \ D. Lactic acid

Q.47 Which one of th -‘-:" owing H-bond Is strong?
A.O-H C.F-H
B.N-H D. CI-H

Q.48 Which of the following s true about arenes?

A. Low melting, and low boiling points
B. High melting, and high boiling points
C. Low melling, and hugh boiling points
D. High solubility in polar solvents

Q49 enzyme catalyses the converslon of hexoses to 6- phosphate
derivatives.
A. Hexokinase C. Fructokinase
B. Glucokinase D. Malonic acid
Q.50 Aldehydes and ketones can be obtained by the
A. Reduction of aleohol C. Dehydration of alcohol
B. Oxidation of alcohol D. Hydrolysis of alcohol
Q51 Which of the following does not have sp2 hybridized orbital
A. Acelone C. Acelic acid
B. Acetonitrile D. Acetamide
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Q.60

Q.61

Q.62

Q.63

Q.64

Q.65

Q.66

Q.67

Q.68

Oxygen Is not released on heatlng which of the compounds?

AL (NHL)2Cr20, C. Zn{CIh):
B. KsCr:Oy D. KCIO;

In exothermic reactions lorward reactions need

A More Energy C. Less Energy
B. No energy D. Catalyst

How many electrons can occupy In 7th energy level of an atom. Calculate by
psing 2n? formula

A24 c.72

B.5 D.98

Which metal Is paramagnetlc?

A.Cr C.Fe

B. Mn D. All of these
The critical volume of Oz Is ___cm3/ mol

A.95.56g/dm? C. 74.42g/dm’*

B. 64 5] g/dm’? D. 99 9¢/dm?

PHYSICS

related to time
A. Depend on lime f these
B. Independent of time
The number of vibrations execufed {n one
A. Period

B. Frequency _
In parallel voltage remalns?
A Same

B. Different

B. Step down
D. Secondary

B. Infinite
D. None of these

C.m's

D. m/s?
For an ob]ect ¥ cle, the angle between linear velocity and the
positlon vector IS
A. 0 degrees \ C. 90 degrees

B. 30 degrees D. 60 degrees

An osclllatlon Is called simple harmonic motion when:

A. acceleration is directly proportional to -x

B. acceleration is directly proportional to x

C. acceleration is directly proportional to v

D. acceleration is inversionally proportional to —x

Calculate the work done In a reslstor of 20 ochm carrying SA of curreni In 3

hours.

A 1IKWh C. 2KWh

B. I.5KWh D. 3KWh

For atomie spectra, atomic gas or vapor at pressure which Is much ___ than
atmospheric pressure Is excited

A. greater C. less

B. grealer than equal to D. none of these
Self-Inductance varles number of turns In coll as

AN C.N?

B.N? D I

PMC PRACTICE BUNDLE 2 TEST 09 PAGE 4 OF 14

Scanned with CamScanner




Q.69

Q.70

Q.71

Q.72

Q.73

Q.74

Q.76

Q.17

Q.78

Q.79

Q.80

Q.81

Q82

Q.83

Displacement of an object In moving around a complete clrele Is

A 2nr C, nr

B. 2r D. zero

Which of the following s the rapld process

A. Conduclion C. Conveclion

B. Radiation D. All of these

The capacitance of parallel plate capacitor can be written as:

A A e d D. Ago d*

B. Aro d

C. Aro —-—---2d

Eleciric generator converts to COeTEyY

A. electric, mechanical C. mechanical , potential
B. mechanical , electric D. not enough information
Energy of photon Is directly proportional to its :

A. Temperature C. Wave length

B. Frequency D. None of the above

The convectlon process transfer heat faster than radiation

A. it depends on condition A JTRUE

B. not always D\FALSE

Projectile when launched at 90 degree with respedt (o horlzontal then its
trajectory Is \

A. Parabolic . Hyperbolic trajectory

B. Periadic i .

An ambulance siren emits a sound o '.‘b Tz Fhe speed of sound
In alr is 330 m/s. The ambulayce moves fgwnrds 2 stz tionar; rver at a
constant speed of 50 m/séWh . [

A. (1800 = 290)/ 330

B. (1800 = 3301/ 37
Wheneverat
denser med|um _
isplaceriepf remains same

acement is reversed

s displacement is reversed
f displacement remains same
nge spacing Increases II:

ight

i foBlue light
 campared 1o blue light

B. Momentum
o D. Angular momentum
A test charge of 23 pC'ls at a polnt P where an external electric field Is
directed to the left and has a magnltude ol 3.1 x106 N/C. 1T the test charge Is
replaced with another test charge of 13 pC, what happens to the external
electric Meld at P?
A. il remains same
B. it reverses direction
C. it changes in a way that cannot be determined
D. 31 x 10°N/C
Work done In a isobaric process is given by

A PAT C. Vdp

B. PdV D. P*2Dv

Angular velocity cannot be

A. zero C. infinite

B. negative D. linear

How much potential difTerence is required lor establishing steady current?
A, Minimum C. Maximum

B. Constant D. Varying

PMC PRACTICE BUNDLE 2 TEST 09 PAGE 5 OF 14

Scanned with CamScanner




Q.84

Q.86

Q.87

Q.88

Q.89

Q.90

Q91

Q92

Q.93

Q.94

Q.97

Q.98

Q.99

Q.100

A rectangular loop of dimension 3 cm by 5 cm Is placed perpendicular In
uniform magnetic field of 0.1 T, find the magnetic Nux through the loop

A. L5wb C.0.015wb

B.0.15 wh D. 15wb

A thermodynamlic system undergoes a process In which its Internal energy
decreases by 300 1. ITat the same time 120 J of work Is done on the system,
Mnd the heat lost by the system

A.-420] C.80)

B.4201J D.-B0J

If system changes from a state P1 V1 to P2V2 by two paths then quantity
which remains unchanged is

A.dQ C. dQ-dW

B. dW D. dQ+dW

If the conductor resistance is 50 ohm and the current passing through itis 5
A. What Is the value of potentlal difference?

AL 150V C. 50V

B. 250V D. 15V

An electron Is moving along the line of forc magnetic Aeld B with velocity
u, then maximum force acting on the charg
A. Bue '
B. Bg'u

An arc of length equal to the cl
A. nradian
B. 2x radian
The dimenslons of angulap®
A [LTT)

e

C. Absorplion
: D. Diffraction
T Is decreased In secondary colls

.......

A. electric field C. number of turns
B. magnetic field D. none of these
One keal=

A 4.18) C.209)
B.4180) D.20907J
Numbers of neutrons present In a nucleus Is given by
A.N=A+Z C. N=A-Z

B. N=AZ D. N=Z-A
Which Is not the result of special theory of relativity

A. Lengih contraction C. Time dilation
B. Space - time transformation D. Mass varation

The distance between two point charges If halved, the lorce between them
would be:....

A. Half C. One fourth

B. Double D. Four limes

In a periodic wave, the distance between a crest and the next consecutive
trough Is 15 em, What Is the wavelength of the wave?

A.10cm B.5cm
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C.75¢cm D.30cm
Q.101 A cyclist come to skidding stop in 10 m, the force on the cycle due to the road
Is 200 N and epposite to the motion. how much work does the read do on the

cycle
A. 2000 C.0
B.-20001] D.200)J
Q.102 The Image received of absorbed x ravs Is
A. Inverted C.Anyofaorb
B. Real D. Virtual

Q.103 Which one Is the correct statement about selenium?

A. Selenium is a good conductor

B. Selenium is a good insulator

C. Selenium is an insulator in the dark and becomes conducior when exposed 1o light

D. Selenium is an conductor in the dark and becomes insulator when exposed 1o light
Q.104 In annlhilatlon process......cccern.. are produced :

A. Posilron C. Electrons

B. Photons D. B & C are correct

Q.105 Reslstivity of a wire Is ___ ohm-m I 0.75 A currgnt Nows through It by
applylng 15V putentinl difference, take len] gth ind cross section as Sm and
25x 107 m
A 1x107
B.2.63x 10"
C.19x10%
D.7.85x 10°® \"

Q.106 Afller certaln lapse of timegdhe fraction iio found to
be 12.5% of Initlal quantfty, If the half life'af holon! ), then
duration of time lapseTs.oa.2..days
AL 345

D. 175

B. 276 _
Q.107 At every polnfiof tra lle which of the fo ’ ng quantitles [s
alw ay’s zere

VT cal acceleration
< D Horizontal acceleration
oving In #'tirtle of radius 20 cm, increases

agf Its centripetal acceleration to
s,

C. 800:1
D. 7:40
wave If the phase angle between two polnts of

the medium p¥ are separated through a distance of 3 cm?
A Becm C.lem
B.%cm D.12ecm

Q.110 In hall wave rectification, the output DC voltage Is obtalned across the load for
A. the positive half cycle of input AC
B. the negative half cycle of input AC
C. the positive and negative half cycles of input AC
D. Either positive or negative half cycle of input
Q.111 A real transformer does not change
A. Valage level C. Power level
B. Current level D. Frequency level
Q.112 A reversible carnot engine converis 1/6th of heal Into Input work. When the
temperature ol sink Is reduced by 62 degree C then elliclency is doubled then
temperature of source and sink s
A.BOC37C C.99C 25C
B.99C, 30C D.99C, 37C
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BIOLOGY

Q.113 Roots of a plant show which of the following?
A. Positive pholotropism and negative geotropism
B. Negalive lactic movemenl and positive tropic movement
C. Positive geotropism of stem and rools
D. Negative phictotropism and positive geolropism
Q.114 Which one of the lallowing biomolecules Is most abundant In animals?

A, Starch C. Cellulose
B. Glycogen D.Bothaand b
Q.115 The selection lor a tralt on one extreme Is called which of the following?
A. Naturl selection C. Stabilizing selection
B. Directional selection D. all of these
Q.116 What is the slze of Parvovirus?
AL 200 nm C.30 nm
B. 20nm D. 100 nm

Q.117 A nucleotlde can also sald as
A. Chromatic body
B. Nuclear region 42

Q.118 The dense fluld filled region in the chlorofilast
A. Grana
B. Stromn

Q.119 The fate of each blastomere Is forel
A. Spiral and indeterminate
B. Radial and indeterminate,

Q.120 Competltive Inhibitors an il real subslrale
A. Structure . ""_-. -
B. Chemical properi ut' these

Q.121 The phage whickieatses Iysis of the host cell Is know .Jﬂ

D. Bagtepéphage

uclear body
All of Above

A, Lyu:: Pha g

B i.‘f.' < S D bronchitis

Q.123 Ifan lnﬂl'.lllu.'lll[l:ll'.'ﬁ ol rep Q}I;:_ en It's degree of Mtness is?
L. 10Q = 3 C.40
D.0

C. Glucose production
D. Air production

Q.125 TIZIE name aniy jyed from what word?
A. Aname o’ C. Anima
B. Anemin 1 D. None of these
Q.126 Irreversible modifications require the synthesis ol which of the following?
A. Enrymes C. Vitamins
B. Carbohydrates D. Proteins
Q.127 Which of the following §s a oviparous anlmal?
A. Pidgeon C, Sheep
B. Elephant D. Humans

Q.128 The oxyeen and carbon dioxide crosses the plasma membrane by the process of?
AL Active dilfusion
B. Pacilitated difTusion
C. Passive diffusion
D. Random difTusion
Q.129 Ifthe 1 amino acld Is Jolned together by peptide bonds, it becomes

A. Prolein C. Funclional prolein

B. Globular protein D. Secretive protein
Q.130 Maxlmum capacity of hemoglobln to absorh oxygen Is:

A. 19.6ml/100 ml blood C. 25 ml/100 ml blood

B. 20 ml/100) ml blood D. 30 ml/100 ml blood
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Q.131 Which one lorms the raw materdal for coenzymes?

A. Vilamins C, Lipids

B. Carbohydrates D. Proteins
Q.132 The largest part of the human braln Is the

A. Cerebrum C. Hypothalamus

B. Thalamus D. Limbic system
Q.133 Eukaryotes can share which of the following structures with prokaryotes?

A. Cell wall C. Golgi

B. Nucleaid D. Mitochondria
Q.134 Phenotype represents which of the following?

A. Morphology C. Genetics

B. Physiology D. All of these
0.135 Which of the following Is an exception to cell theory?

A. Dacteria C. Prolists

B. Viruses D. Prolozoans

0.136 Which characteristic s not of Identical twins?
A, Produced by separation of rwo blastomeres
B. Produced asexually
C. Produced when embryo is at two cell stagg
D. Have dilTerent genelic makeup

Q.137 Which type of viruses Infect E. Coll bacleria?
A. T phages
B. p phages oo

Q.138 The Now of lvmph 1s always towards R
A. pancreatic ducl D
B. bile duct ' B

Q.139 Which of the lollowing are thi first group of ~ whieh Nave

developed a closedicjreulatory system?
A. Nematodes

D: Mollu

Q.140 Incomplete dominanee ks holth "o owing?
; - P agr al dominance

C. Insulin

[’ BN - D. Progesterone

Q.142 Whicho o lle rarnglerlitiés make plasmid DNA useful for
E: Capable of i
C. Capable of bdj from genomic DNA

D. All of these
Q.143 IT'we add more substrate to already occurring enzymatic reaction and It has
no affect on the rate of reactlon, the process Is called?

A. Denaturation C. Inhibilion
B. Composition D. Satration
Q.144 Flagella are baslcally composed ol a
A. Protein C. Enzyme
B. Chemical D. None of above
Q.145 In what year dlid YWHO declare that smallpox was completely eradicated?
A. 1990 C. 2001
B. 1980 D.. 1995

Q.146 what is the microscope's ahllity to distinguish between separate abjects that
are close together?

A. Magnification C. Resolving power

B. Contrast D. Scanning power
Q.147 What does NADPH; provide during photosynthesis?

A. Energized electron C. Uncharged electron

B. Energy D. Al of these
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Q.148 Shell of egg Is leathery In appearance In which of the followlng?

A. Amphibians C. Prolotherians
B. Birds D. Repliles
Q.149 Homozygous chromosomes Include which of the following?
A. Diploid cells C.Bothaand b
B. Polyploid cells D. None of these

Q.150 During the menstrual cycle, which of the following events happens il a
released egg docs not become lertilised?
A. The lining of the womb wall stays built up.
B. The lining of the womb wall builds up again.
C. Another egg is immediately released.
D. The lining of the womb wall breaks down.

Q.151 Anlmals like starflsh have small groups of neurons In each arm connected to
a ring of neurons In the centre. This type of nervous system is called

A. Centralized nervous syslem

B. Partially centralized nervous system

C. Diffuse nervous system

D. Pantially diffuse nervous system
Q.152 Which struclure of protein gives Information ab n

amino aclds [n 0It? '

number and sequence of

A. Primary structure . Tertiary, structure

B. Secondary structure s ary structure
Q.153 Water vapor exlts and CO2 gnlers a ﬁ" th

A. Stomata

B. Grana
Q.154 Viruses are how much's -":_"; '
A. 20 10 2000 times

B. 1010 1000 0

than bacteria™

Q.155 The differcncéin _ nrm and :;cil ‘__|.‘-'!J. m occurs duoe to?
A. Carbon dioxide C- Carolefioids
. gen avelength
Q.156 Whichal ':';._ impartant polnts e rck': theory?

(", Matural selection
D.Bothaand b

Q.157 The female tes are mo monl{ referred as?
; | C. Ovum
D. All of these
of the kind of openings that are known as
C. Nosltrils
D. None of these

Q.158 The nasal cavity opens ous]
A. Pharynx -
B. Bronchioles
glyeolysis is?

A. Energy consumi C. Net neutralization of energy

B. Energy vielding D.Bothaand c
Q.160 What occurs when the thin actin and thick myosin filaments slide past each
other?
A. Muscle relaxation B. Muscle contraction
C. Muscle twitch D. None of these
Q.161 The muscle which moves a body part towards the midline of the body is:
A Flexor muscles B. Extensor muscles
C. Adductor muscles D. Abductor muscles

Q.162 Which of the following selentists hypotheslzed that organlsms can pass down
traits acquired during their lifetimes?
A. Lamark B. Darwin
C. Mendel D. Linnazus

Q.163 A three-dimensional cavity bearing a specific charge by which the enzyme
reacts with Its substrate s called?
A. Active sile B. Binding site
C. Calalytic site D. Allosleric site
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Q.164 The Nuldlty of the plasma membrane increases with which ol the following?
A. Increase in saturated fatty acids in the membrane
B. Increase in glycolipid content in the membrane
C. Increase in phospholipid content in the membrane
D. Increase in unsaturated fatty acids in the membrane
Q.165 The Nuidity of the plasma membrane increases with which of the following?
A. Increase in saturated [aty acids in the membrane
B. Increase in plycolipid content in the membrane
C. Increase in phospholipid content in the membrane
D. Incrense in unsaturated Fatty acids in the membrane
Q.166 The skeleton of sponges Is made up of which of the following?

A. Caleium C.Bothaand b
B. Silica D. None of these
Q.167 The brain part that carries sensory information to the limblc system and
cerchrum ls
AL Medulla C. Hypothalamus
B. Thalamus D. Corpus callosum

Q.168 All of the lollowlng statements are true regarding the attachment or
adsorption of the virion to the host cell E2 !lel:

A. For naked virions, the surface capsid proteins‘ate ygsponsible for binding to a
specific celll receplor.

B. For enveloped viruses, the spikes afereSpagsible {orbihding to & specific cell
receplor.

C. Cell lacking a receplor fora eclﬂ: ‘"‘l‘ :i-‘,-l that virus.

D. All of the above l\

Q.169 Which of the modes of g ;_ uldr 'Lnnspnrl o
A. Active transport .
B. Osmosis

Q.170 The Iungt of lun
AL The swim bla *

B.. The swim blad

Q171 of us 1 lant el 1s&alled?

C. Protoplasm

D. Protoplast

5 other than glycerol are called__
C. Both (A) and (B)
D. None of these

Q.173 TI:E anly promoter of lealSenkscence In the lollowlng plant harmones Is?

Ny C. Auxins
= D. Abscisic acid
Most non-envelop

Q174 NA viruses assemble their nucleocapsid In the
A. Cytoplasm C. Microtubules
B. Nucleus D. Golgicomplex

Q.175 The nodules of lymphoid tissue found in the wall of the Intestinal tract are
termed as:
A. Grave's region C. Peyer's patches
B. Hashimoto's nodes D. DiGeorge's nodes

Q.176 Which of the following statement about the head of a chlorophyil molecule Is
Incorrect?

A. It is a porphyrin ring or tetrapyrrole ring structure
B. It is flat, square and Light absorbing
C. Compaosed of carbon and nitrogen atoms with Magnesium as central metal ion,
which is coordinated with nitrogen.
D. 1t is hydrophobic
Q.177 Phosphofructekinases enzyme converts fructose-6-phosphate Into___
A. Fructose- 1,4-phosphate C. Bisphosphate
B. Fructose-1.6-bisphosphate D. Fructose
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Q.178 Which of the following Is NOT a class of enzyme?

A. Lipase C. lsomerase

B. Hydrolyse D. Pyrimidine complex
Q.179 Example of a homologous organ Is represented best by which of the

followlng?

A. Wing of an insect, wing of a bird
B. Leg of a dog, leg of a spider
C. The arm of a human, wing of a bird
D. All of these
Q.180 Which of the following is non-cellular In most cases In animals?
A. Sclerenchyma C. Mesoderm

B. Chlorenchymn D. Mesenchie

Q.181 Choose the correct sentlence.
A. Who isn' here yel asked Parveen.
B. "Who isn't here yet?" asked Parveen.
C. Who isnt here yet? asked Parveen.
D. "Who isnt here yet?" asked Parveen.

Q.182 When the dentlst came In (A), my tooth/w
{C) that I might loose my tooth. (D) '
A. When the dentist came in

ching (B)/ out of fear

B. My 1ooth was stopped achufig
C. Out of fear .
D. That i might loose niy (ogll

Q.183 It __ mow.
A. Rains

;ent oul without a ralncoat.
C. Unless
D. Although

C. Didn'l you hf: "§ e exam was changed fo next week?

D. Did'nt you hear that the exam was changed 1o next week?

Q.187 Choose the future Indeflnite tense form of the given sentence. “The parcel
has been delivered.”

A. The parcel had been delivered.

B. The parcel will be delivered.

C. The parcel was delivered.

D. The parcel would have been delivered.

Q.188 A container of nuts and bolts found In the cellar.
A, was C. would be
B. were D.is
Q.189 A ship (A)/ lnden with mechandise (B) got drowned (C)/ In the Pacific
Ocean. (D)
A. A ship C. got drowned
B. laden with mechandise D. in the Pacific Ocean.
Q.190 My lather (buy) us popcorn and orange juice.
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A, buy C, bought

B. will buy D. have bought
Q191 The ofMicer Is angry (A) on the clerk (b)/ for not completing the jJob (C)/ on
time. (D)
A. The officer is angry C. for not completing the job
B. on the clerk D. on time.
Q1921 (take) the medicine as prescribed by the doctor for a week now.
A lake C. have been laking
B. would have 1aken D. have had been taking
Q.193 Nelther of the paintings (is) sold.
Als C. was
B. were D. are
Q.194 The samples on the tray In the lab testing.
A. need C. needing
B. needs

Q.195 Can you the tea and I'll get the caké'm
A. depart
B. disturb
Q.196 Everyone hopes to get a job with firo
people manage lo do so.
A.on

A. just passed
B. some A
Q.198 Choose lh orre

blind in this clty.

) D. an.. the
Q.200 It was a good p g6 ' Fhey got quite ............ by using it to cultivate the

C. responsible
D. prosperous

LOGICAL REASONING

Q.201 Statements : All fish are tortolse. No tortolse Is a crocodile. Conclusions : 1.
No crocodlle Is a fish. IL. No [ish is a crocodile.
A. Only conclusion I1 follows C. Neither I nor II follows
B. Either [ or II follows D. Both I and 11 follow

Q.202 Fact 1 Some pens don't write Fact 2 Only blue pens write Fact 3 some
wrlting utensils are pens If the above three statements are facts than which of
the fallowing statement will also be a fact I. Some writing utensils dont write
Il. Some writing utensils are blue [11. Some Mue writlng utenslls don't write
A. Only II1 C.Onlyl
B. Only Iand I D. Only Il and I1

Al tmnqutl
B. peacelul
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Q.203 Statement: There Is sharp decline In the production of oll seeds thls vear, The
government has declded to Increase the Import quantum of edible oll.
AL Statement ] is the cause and staiement 11 is 1is effect.
B. Statement 11 is the caose and statemenl 1 is 1ts efTect
C. Both the stalements [ and 11 are independent causes
D. Both the statements [ and I1 are effects of some common cause
Q.204 Which letter lies In the mlddle of word Quallty?

AL B.A
cC.U DY
Q.205 Look at this serles: 7, 10, 8, 11, 9, 12, ... What number should come next?
A7 B. 10
C.12 D. 13

Q.206 Statement The avallabillty of imported [rults has [nereased [n the Indigenous
market and so the demand for Indigenous fruits has been decreased. L. To
help the Indlgenous producers of fruits, the Ggvernment should Impose high
Import duty on these frults, even Il these arfir@f goodl quality. IL The fruit

the demand for

vendors should stop selling imported [
Indlgenous frults would be Increas 1'
A. Both of them follows
B. None of them follows
Q207 Ifa-b=3and a2+ b2=
A 10
B.12
Q.208 Statement Shou
India? Argu

No. llul: iraw 1 h&
employmek

mmsa'

total ban an lnhnc:\?ﬁrq u.::'?nd smoking In
: n

i
g to smoke away millidns of money. (II)

. i_f‘:g : amount of money as it

. Only IT is strong
D. Dnl}' IT and 1 are slrnng

rm-.u-r anil Is nm 1€ he dog on the right. Which child is directly behind

the dog?

A. James C. Rachel

B. Ruby D. Max
Q.210 Country with the highest muslim population Is

A. Pakistan C. Indonesia

B. Malaysia D. Iran

As we know there is lot of mistakes in answer Keys of

PMC Practice tests, so I have decided to rectify all in

proper in SKN STUDY GROUP
Join it
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